
PSC Part No. Description Quantity Current PSC Price (each) Cumulative Price

27 Seat Boxes 2 8.75 17.5

131 Crank Pin Screws 4.5X1.8mm 1 8.25 8.25

132 Crank Pin Screws 4.5X2 mm 1 8.25 8.25

138 Screws Valve Gear 1 11.00 11

333 Crank Pin Screws 1 7.50 7.5

336 Crank Pin Screws w/Shoulder 1 16.25 16.25

357 Leaf Springs 2 11.50 23

377 Springs 0.080" Dia. X 0.24" 2 7.50 15

410 Bulbs 1 21.00 21

918 Screws 1.4 X 6 mm 1 11.50 11.5

920 Screws 2.0X7 mm 1 8.25 8.25

1054 Steps K-27/28 2 7.50 7.5

1069 Number Plate 4 6.50 26

1185 Bracket Pilot Lift Bar 2 14.00 28

1423 Boiler Bracket C-16 On3 1 8.00 8

1487 Generator Bracket 1 7.50 7.5

1502 Backup Lights D&RGW 2 8.25 16.5

1552 Spark Arrestor 1 8.75 8.75

2008 Bell 1 9.25 9.25

2016 Headlight Bracket 1 8.25 8.25

2030 Number Board W/Indcator 2 10.00 20

4004 Brackets, Coupler Lift 4 5.75 23

4033.1 Coupler Lift Working 1 7.00 7

4047 Bracket 2 8.25 16.5

4127 Power Reverse 1 12.75 12.75

4137 Marker Lights 4 7.50 30

4147 Pyle National Head Light 15" 5 9.25 46.25

4170 Cab Seats 2 8.75 17.5

4193 Stocker 6 56.50 339

4224 Conduit Juntion Box #1 1 8.25 8.25

4225 Conduit Juntion Box #2 1 8.25 8.25

4236 Lagging Clamps 5 7.00 35

4282 Flag Stanchions 2 7.00 14

4289 Simplex Injector 1 10.0 10

4290 Bracket For Cab Light 4 7.00 28

4347 Fire Door 2 12.25 24.5

4376 Tender Truck Journal Boxes 2 9.50 19

4388 Safety Valves 3 1/2" 1 7.50 7.5

4390 Air Hose 2 8.75 17.5

4442 DV-4 Lubricator 5 13.00 65

4455 Overfire Jets 7 8.00 56

4465 Double Check Valve 3 9.25 27.75

4469 Valves, Cylinder Relief 2 8.25 16.5

4508 Headlight Pyle 12" 1 9.25 9.25

4628 Turret 3 9.50 28.5

4649 Brake Hose 4 9.25 37

4714 Pyle Generator 5 8.25 33

4768 Injector, Nathan 4000 2 11.50 23



4768.1 Pipe, Nathan Oveflow 2 8.75 17.5

4835 Globe Valve 1 3/4" 1 7.00 7

4851 Shutoff Valves 1 7.50 7.5

4853 Machine Lagged Pipes 2 7.50 15

4867 0.008" Brass Rod 2 7.00 14

4868 0.012" Brass Rod 2 6.50 13

4869 0.4 mm Brass Rod 1 8.25 8.25

4870 0.020" Brass Rod 1 8.25 8.25

4871 0.024" Brass Rod 1 8.25 8.25

4872 0.028" Brass Rod 2 8.25 16.5

4873 0.032" Brass Rod 1 8.25 8.25

4874 0.035" Brass Rod 2 8.25 16.5

4875 1 mm Brass Rod 3 8.25 24.75

4876 0.045" Brass Rod 2 8.25 16.5

4878 1/2 Round Brass Rod 1 7.00 7

8265 Air Tank End Caps 5 7.00 35

9041 Dog House 2 38.00 76

9070 Commonwealth T/T 1 55.25 55.25

9074 Comonwealth T/TW/buster 1 77.25 77.25

9141 Cole Trailing Truck 2 37.00 74

9533 Worthington FWH  Type BL 2 44.75 89.5

9535 Elesco FWH System 4 111.00 444

9541 Air Compressor 7 55.25 386.75

9543 Elesco Exhaust 2 42.50 85

40118 Bell 4 9.25 37

40126 Hangers w/shoes, loco brake 4 11.50 46

40140 Bracket Couple Lift Bar 1 7.00 7

40146 Whistle Left Mount 1 7.00 7

40165 Coupler Pocket 1 8.25 8.25

40230 Markers 2 7.50 7.5

40246 Pilot 4 16.00 64

40265 Boiler Plugs 5 5.75 28.75

40276 Wheel Centers 47" 12 Spoke 2 11.50 23

40277 Power Reverse 4 12.75 51

40672 Tender trk. Brake Shoes 2 8.25 16.5

41013 Coal Screw W/Stocker End 3 10.50 31.5

41112 Bracket 7 7.50 52.5

41135 Steps K-27/28 1 7.25 7.25

41156 Marker Lamp Brackets 2 7.00 14

41211 Whistle 2 7.00 14

48104 Cooling Coil Ends 0.028" 2 7.00 14

48116 0.032" Half Round Brass Rod 2 7.00 14

48182 Cored Unions 0.024" wire 1 6.50 6.5

48219 Plastic Nut/Bolt Set 2 6.50 13

48239 Union For 0.020" wire 1 6.50 6.5

48390 Elbows 0.040" 1 7.00 7

48395 Elbow 0.020" wire 1 7.00 7

99010 Very Flexible Wire 1 ? 0

4033 .11 Coupler Lift Dummy 1 6.50 6.5

Total $3,248.00


